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RRB 13th Mathematics Mega Quiz October (Questions) 

 
Q1. The jogging track in a sports complex is 726 meters in circumference. Pradeep and his wife 
starts from the same point and walk in opposite directions at 4.5 km/h and 3.75 km/h, 
respectively. They will meet for the first time in? 

एक खले परिसि में जॉगिंिं ट्रैक की परिधि 726 मीटि है. प्रदीप औि उनकी पत्नी एक ही गिंद ुस ेशरुू किते हैं औि क्रमशः 4.5 ककमी 

/घटंा औि 3.75 ककमी /घटंा की िंधत पि धिपिीत कदशाओं में चलते हैं. िे पहली िंाि ककतनी देि में धमलेंिं?े 

(a) 5.5 min  
(b) 6.0 min 
(c) 5.28 min  
(d) 4.9 min 
 
Q2. A boat goes 24 km upstream and 28 km downstream in 6 hours. It goes 30km upstream and 
21 km downstream in 6 hours and 30 minutes. The speed of the boat in still water is:  

एक नाि ििा के प्रधतकूल 24कक.मी औि ििा के अनकूुल 26कक.मी 6 घंट ेमें जाती ह.ै यह 30कक.मी ििा के प्रधतकूल औि 21कक.मी 

िािा के अनकूुल 6 घटंे 30 धमनट में जाती ह.ै धथिि जल में नाि की िंधत ककतनी है? 

(a) 10 km/h  
(b) 4 km/h 
(c) 14 km/h  
(d) 6km/h 
 
Q3. Two trains form Mumbai leave towards Delhi at 6 a.m. and 6:45 am and travel at 100 kmph 
and 136 kmph respectively. How many kilometers from Mumbai will the two trains be together? 

दो ट्रेन मुिंंई के धलए कदल्ली से 6 पिूााहन औि 6:45 पिूााहन पि चलती हैं औि यह क्रमश: 100कक.मी/घटंा औि 136कक.मी/घंटा 

पि चलती ह.ै कदल्ली से ककतने ककलोमीटि िंाद दो ट्रेनें एक साि धमलेंिंी? 

(a) 262.4 km  
(b) 260 km 
(c) 283.33 km  
(d) 275 km 
 
Q4. Two points A and B are located 48 km apart on the riverfront. A motorboat must go from A to 
B and return to A as soon as possible. The river flows at 6 km/h. What must be the least speed of 
the motorboat in still water for the trip from A to B and back again to be completed in not more 
than six hours (assume that the motorboat does not stop at B)? 

दो गिंद ुA औि B रिििफं्रट पि एक दसूिे से 48कक.मी कक दिूी पि हैं. एक मोटििंोट को A स ेB तक जाना है औि जल्दी से जल्दी A 

पि िापस आना है. नदी कक िािा की िंधत 6कक.मी/घटंा है. छ: घंटे स ेकम समय में A स ेB तक जाने औि िाधपस आने के धलए 

मोटििंोट की कम से कम िंधत ककतनी होनी चाधहए(मान लीधजये की मोटििंोट B पि नहीं रूकती)? 

(a) 18 km/h  
(b) 16 km/h 
(c) 25 km/h  
(d) 46 km/h 
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Q5. A 200 m-long train passes a 350 m long platform in 5 s. If a man is walking at a speed of 4 m/s 
along the track and the train is 100 m away from him, how much time will it take to reach the 
man? 

एक 200मी लिंंी ट्रेन एक 350मी लिंंे प्लटेफामा पि खड़े व्यधि को 5s में पाि किती ह.ै यकद एक व्यधि 4मी/सकंेड की िंधत से ट्रैक 

पि चलता ह ैऔि ट्रेन उस से 100मी की दिूी पि ह,ै उस व्यधि तक पहुचने में उसे ककतना समय लिंिेंा? 

(a) Less than 1 s  
(b) 1.04 s 
(c) More than 2s  
(d) Data insufficient 
 
Q6. A clock gains 15 minutes per day. It is set right at 12 noon. What time will it show at 4.00 am, 
the next day? 

एक घडी प्रधत कदन 15धमनट प्राप्त किती है. इसे मध्याह्न पि सटे ककया जाता ह.ै अिंले कदन यह 4:00पिूााहन पि ककतना समय 

दशाायिेंा? 

(a) 4 : 10 am  
(b) 4 : 45 am 
(c) 4 : 20 am  
(d) 5 : 00 am 
 
Q7. During a journey of 80 km a train covers first 60km with a speed of 40 km/h and completes 
the remaining distance with a speed of 20 km/h. What is the average speed of the train during the 
whole journey? 

एक 80कक.मी की यात्रा के दौिान एक ट्रेन पहले 60कक.मी की दिूी 40कक.मी/घटंा स ेतय किती है औि शेष दिूी को 20कक.मी/घंटा 

से तय किती है. पिूी यात्रा के दौिान ट्रेन कक औसत िंधत क्या िी? 

(a) 30 km/h  
(b) 32 km/h 
(c) 36 km/h  
(d) 40 km/h 
 
Q8. A travel from B to C, a distance of 250 miles, in 5.5 hours. He returns to B in 4 hours 40 
minutes. His average speed is 

A, B से C तक 5.5 घटंे में 250मी की दिूी तय किता ह.ै िह 4 घटंे में B पि िापस आता है. उसकी औसत िंधत है: 

(a) 44  
(b) 46 
(c) 48  
(d) 50 
 
Q9. A race course is 400 meters long. A and B run a race and A wins by 5 meters. B and C run over 
the same course and B wins by 4 meters. C and D run over it and D 
wins by 16 meters. If A and D run over it, then who would win and by 
how much? 

एक िेस कोसा 400 मीटि लिंंा है. A औि B एक िेस दौड़त ेहैं औि A 5 मीटि स ेजीत जाता 

है. B औि C उसी कोसा पि दौड़त ेहैं औि B 4 मीटि से जीतता ह.ै C औि D इस पि दौड़ते हैं 

औि D 16मी से जीतता ह.ै यकद A औि D इस पि दौड़ते हैं, तो कौन ककतने स ेजीतिेंा? 

(a) A by 8.4 meters  
(b) D by 8.4 meters 
(c) D by 7.3 meters  
(d) A by 7.3 meters 
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Q10. A man travels 450 km to his home partly by train and partly by car. He takes 8 hrs 40 min if 
he travels 240 km by train and rest by car. He takes 20 mins more if he travels 180 km by train 
and the rest by car. The speed of the car in km/hr is 

एक परुुष अपने घि तक 450 की दिूी ट्रेन अििा काि द्वािा तय किता है. यकद िह 240कक.मी ट्रेन द्वािा औि शषे काि द्वािा तय 

किता ह ैतो उसे 8 घटं े40 धमनट लिंत ेहैं. यकद िह 180कक.मी ट्रेन द्वािा औि शेष काि द्वािा तय किता है तो उस े20 धमनट अधिक 

लिंते हैं. कक.मी/घटंा में काि की िंधत क्या है? 
(a) 45 
(b) 50 
(c) 60 
(d) 48 
 
Q11. The jogging track in a sports complex is 726 meters in circumference. Pradeep and his wife 
starts from the same point and walk in opposite directions at 4.5 km/h and 3.75 km/h, 
respectively. They will meet for the first time in? 

एक खले परिसि में जॉगिंिं ट्रैक की परिधि 726 मीटि है. प्रदीप औि उनकी पत्नी एक ही गिंद ुस ेशरुू किते हैं औि क्रमशः 4.5 ककमी 

/घटंा औि 3.75 ककमी /घटंा की िंधत पि धिपिीत कदशाओं में चलते हैं. िे पहली िंाि ककतनी देि में धमलेंिं?े 
(a) 5.5 min  
(b) 6.0 min 
(c) 5.28 min  
(d) 4.9 min 
 
Q12. A boat goes 24 km upstream and 28 km downstream in 6 hours. It goes 30km upstream and 
21 km downstream in 6 hours and 30 minutes. The speed of the boat in still water is:  

एक नाि ििा के प्रधतकूल 24कक.मी औि ििा के अनकूुल 26कक.मी 6 घंट ेमें जाती ह.ै यह 30कक.मी ििा के प्रधतकूल औि 21कक.मी 

िािा के अनकूुल 6 घटंे 30 धमनट में जाती ह.ै धथिि जल में नाि की िंधत ककतनी है? 
(a) 10 km/h  
(b) 4 km/h 
(c) 14 km/h  
(d) 6km/h 
 
Q13. Two trains form Mumbai leave towards Delhi at 6 a.m. and 6:45 am and travel at 100 kmph 
and 136 kmph respectively. How many kilometers from Mumbai will the two trains be together? 

दो ट्रेन मुिंंई के धलए कदल्ली से 6 पिूााहन औि 6:45 पिूााहन पि चलती हैं औि यह क्रमश: 100कक.मी/घटंा औि 136कक.मी/घंटा 

पि चलती ह.ै कदल्ली से ककतने ककलोमीटि िंाद दो ट्रेनें एक साि धमलेंिंी? 
(a) 262.4 km  
(b) 260 km 
(c) 283.33 km  
(d) 275 km 
 
Q14. Two points A and B are located 48 km apart on the riverfront. A motorboat must go from A to 
B and return to A as soon as possible. The river flows at 6 km/h. What must be the least speed of 
the motorboat in still water for the trip from A to B and back again to be completed in not more 
than six hours (assume that the motorboat does not stop at B)? 

दो गिंद ुA औि B रिििफं्रट पि एक दसूिे से 48कक.मी कक दिूी पि हैं. एक मोटििंोट को A स ेB तक जाना है औि जल्दी से जल्दी A 

पि िापस आना है. नदी कक िािा की िंधत 6कक.मी/घटंा है. छ: घंटे स ेकम समय में A स ेB तक जाने औि िाधपस आने के धलए 

मोटििंोट की कम से कम िंधत ककतनी होनी चाधहए(मान लीधजये की मोटििंोट B पि नहीं रूकती)? 
(a) 18 km/h  
(b) 16 km/h 
(c) 25 km/h  
(d) 46 km/h 
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Q15. A 200 m-long train passes a 350 m long platform in 5 s. If a man is walking at a speed of 4 
m/s along the track and the train is 100 m away from him, how much time will it take to reach the 
man? 

एक 200मी लिंंी ट्रेन एक 350मी लिंंे प्लटेफामा पि खड़े व्यधि को 5s में पाि किती ह.ै यकद एक व्यधि 4मी/सकंेड की िंधत से ट्रैक 

पि चलता ह ैऔि ट्रेन उस से 100मी की दिूी पि ह,ै उस व्यधि तक पहुचने में उसे ककतना समय लिंिेंा? 

(a) Less than 1 s  
(b) 1.04 s 
(c) More than 2s  
(d) Data insufficient 
 
Q16. A clock gains 15 minutes per day. It is set right at 12 noon. What time will it show at 4.00 am, 
the next day? 

एक घडी प्रधत कदन 15धमनट प्राप्त किती है. इसे मध्याह्न पि सटे ककया जाता ह.ै अिंले कदन यह 4:00पिूााहन पि ककतना समय 

दशाायिेंा? 

(a) 4 : 10 am  
(b) 4 : 45 am 
(c) 4 : 20 am  
(d) 5 : 00 am 
 
Q17. During a journey of 80 km a train covers first 60km with a speed of 40 km/h and completes 
the remaining distance with a speed of 20 km/h. What is the average speed of the train during the 
whole journey? 

एक 80कक.मी की यात्रा के दौिान एक ट्रेन पहले 60कक.मी की दिूी 40कक.मी/घटंा स ेतय किती है औि शेष दिूी को 20कक.मी/घंटा 

से तय किती है. पिूी यात्रा के दौिान ट्रेन कक औसत िंधत क्या िी? 

(a) 30 km/h  
(b) 32 km/h 
(c) 36 km/h  
(d) 40 km/h 
 
Q18. A travel from B to C, a distance of 250 miles, in 5.5 hours. He returns to B in 4 hours 40 
minutes. His average speed is 

A, B से C तक 5.5 घटंे में 250मी की दिूी तय किता ह.ै िह 4 घटंे में B पि िापस आता है. उसकी औसत िंधत है: 

(a) 44  
(b) 46 
(c) 48  
(d) 50 
 
Q19. A race course is 400 meters long. A and B run a race and A wins 
by 5 meters. B and C run over the same course and B wins by 4 
meters. C and D run over it and D wins by 16 meters. If A and D run 
over it, then who would win and by how much? 

एक िेस कोसा 400 मीटि लिंंा है. A औि B एक िेस दौड़त ेहैं औि A 5 मीटि स ेजीत जाता 

है. B औि C उसी कोसा पि दौड़त ेहैं औि B 4 मीटि से जीतता ह.ै C औि D इस पि दौड़ते हैं 

औि D 16मी से जीतता ह.ै यकद A औि D इस पि दौड़ते हैं, तो कौन ककतने स ेजीतिेंा? 

(a) A by 8.4 meters  
(b) D by 8.4 meters 
(c) D by 7.3 meters  
(d) A by 7.3 meters 
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Q20. A man travels 450 km to his home partly by train and partly by car. He takes 8 hrs 40 min if 
he travels 240 km by train and rest by car. He takes 20 mins more if he travels 180 km by train 
and the rest by car. The speed of the car in km/hr is 

एक परुुष अपने घि तक 450 की दिूी ट्रेन अििा काि द्वािा तय किता है. यकद िह 240कक.मी ट्रेन द्वािा औि शषे काि द्वािा तय 

किता ह ैतो उसे 8 घटं े40 धमनट लिंत ेहैं. यकद िह 180कक.मी ट्रेन द्वािा औि शेष काि द्वािा तय किता है तो उस े20 धमनट अधिक 

लिंते हैं. कक.मी/घटंा में काि की िंधत क्या है? 

(a) 45 
(b) 50 
(c) 60 
(d) 48 
 
 
Q21. One-eighth of a number is 41.5. What will 69% of that number be? 

ककसी सखं्या का आठिा ंधहथसा 41.5 हैं. उस सखं्या का 69% क्या होिंा? 

(a) 219.12 
(b) 225.76 
(c) 229.08 
(d) 232.4 
 
Q22. The price for a pair of cuff links is Rs. 1.00. The price for a 5-pair package of cuff links is Rs. 
3.40. The 5-pair package is what percent cheaper per pair than 5 pairs purchased separately? 

कफ गलक की एक जोड़ी की कीमत 1.00  रूपए ह।ै कफ गलक के 5-जोड़ी पकेैज की कीमत 3.40 रूपए ह।ै 5-जोड़ी पैकेज, प्रधत 

जोड़ी अलिं-अलिं खिीदे िंए 5 जोड़े की तलुना में ककतना प्रधतशत सथता ह?ै 

(a) 32% 
(b) 47% 
(c) 62% 
(d) 63% 
 
Q23. A bakery opened with its daily supply of 40 dozen rolls. Half of the rolls were sold by noon 
and 60% of the remaining rolls were sold between noon and closing time. How many dozen rolls 
were left unsold? 

40 दजान िोल की दैधनक आपरू्तत के साि एक िंकेिी खलुती ह।ै आिे िोल दोपहि तक धिंक जात ेहैं औि शेष के 60% िोल 

दोपहि औि क्लोगजिं टाइम के िंीच धिंक जात ेह।ै ककतन ेदजान िोल िंच जात ेि?े 

(a) 6 
(b) 8 
(c) 10 
(d) 12 
 
Q24. In two successive years 100 and 75 students of a school appeared 
at the final examination. Respectively 75% and 60% of them passed. The 
average rate of pass is 

दो क्रधमक िषों में, एक धिद्यालय के 100 औि 75 छात्र अधंतम पिीक्षा में उपधथित होत ेह।ै 

उनमें स ेक्रमशः 75% औि 60% छात्र उत्तीर्ा होत ेहैं। उत्तीर्ा छात्रों की औसत दि क्या ह?ै 

(a) 68
4

7
% 

(b) 78% 
(c) 80% 

(d) 80
1

2
% 
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Q25. Rajeev buys goods worth Rs. 6650. He gets a rebate of 6% on it. After getting the rebate, he 
pays sales tax @10%. Find the amount he will have to pay for the goods. 

िाजीि 6650 रुपय ेका सामान खिीदता ह।ै उस पि उस े6% की छूट प्राप्त होती ह।ै छूट प्राप्त होन ेके िंाद, िह @10% धिंक्री 

कि का भिुंतान किता ह।ै माल खिीदन ेके धलए उस ेककतनी िाधश का भिुंतान किना होिंा? 
(a) Rs. 6876.10 
(b) Rs. 699.20 
(c) Rs. 6654 
(d) Rs. 7000 
 
Q26. A students scores 55% marks in 8 papers of 100 marks each. He scores 15% of his total 
marks in English. How much does he score in English? 

एक छात्र प्रत्यके 100 अकंों के 8 पिीक्षा में 55% अकं प्राप्त किता ह।ै िह अगं्रजेी में अपन ेकुल अकंों का 15% थकोि किता ह।ै 

िह अगं्रजेी में ककतना थकोि किता ह?ै 
(a) 44 
(b) 45 
(c) 66 
(d) 77 
 

Q27. 40% of 60% of 
𝟑

𝟓
th of a number is 504. What is 25% of 

𝟐

𝟓
th of that number? 

एक सखं्या के 
𝟑

𝟓
 धहथस ेका 60% का 40%, 504 ह.ै उस सखं्या के 

𝟐

𝟓
 का 25% क्या होिंा? 

(a) 175 
(b) 180 
(c) 350 
(d) 360 
 
Q28. If 35% of a number is 175, then what percent of 175 is that number? 

यकद ककसी सखं्या का 35%, 175 ह,ै तो 175 का ककतना प्रधतशत िह सखं्या है? 
(a) 35% 
(b) 65% 
(c) 280% 

(d) None of these/ इनमें से कोई नहीं 
 
Q29. In an examination X secures 58% marks and Y secures 105 marks less than X. If the 
maximum marks were 700, then what percent of marks did Y secure? 

एक पिीक्षा में X 58% अकं प्राप्त किता ह ैऔि Y, X स े105 अकं कम प्राप्त किता ह।ै यकद अधिकतम अकं 700 ि,े तो Y न े

ककतन ेप्रधतशत अकं प्राप्त ककय?े 
(a) 42 percent 
(b) 43 percent 
(c) 52 percent  

(d) None of these/ इनमें से कोई नहीं 
 
Q30. The difference between 54% of a number and 26% of the same 
number is 22526. What is 66% of that number? 

एक सखं्या के 54% औि समान सखं्या के 26% के िंीच का अतंि 22526 ह।ै उस सखं्या 

का 66% क्या ह?ै 
(a) 48372 
(b) 49124 
(c) 51218 
(d) 53097 
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